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Sub questions

Question Number : 1 Question Id : 68634039499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156001. 1
686340156002. 2
686340156003. 3
686340156004. 4

Question Number : 2 Question Id : 68634039500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156005. 1
686340156006. 2
686340156007. 3
686340156008. 4

Question Number : 3 Question Id : 68634039501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340156009. 1
686340156010. 2
686340156011. 3
686340156012. 4

Question Number : 4 Question Id : 68634039502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156013. 1
686340156014. 2
686340156015. 3
686340156016. 4

Question Number : 5 Question Id : 68634039503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156017. 1
686340156018. 2
686340156019. 3
686340156020. 4

Question Id : 68634039498 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634039499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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686340156002. 2
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Question Number : 2 Question Id : 68634039500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156005. 1
686340156006. 2
686340156007 3
686340156008. 4

Question Number : 3 Question Id : 68634039501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634039502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156013. 1
686340156014. 2
686340156015. 3
686340156016. 4

Question Number : 5 Question Id : 68634039503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156018. 2

686340156019. 3
686340156020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401299
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156021. 1
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Question Number : 6 Question Id : 68634039504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156022. 2
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Question Number : 7 Question Id : 68634039505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156027. 3
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Question Number : 7 Question Id : 68634039505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156025. 1
686340156026. 2
686340156027. 3
686340156028. 4

Question Number : 8 Question Id : 68634039506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634039506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 68634039507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156033. 1
686340156034. 2
686340156035. 3
686340156036. 4

Question Number : 9 Question Id : 68634039507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156033. 1
686340156034. 2
686340156035. 3
686340156036. 4

Question Number : 10 Question Id : 68634039508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156037. 1
686340156038. 2
686340156039. 3
686340156040. 4

Question Number : 10 Question Id : 68634039508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156037. 1
686340156038. 2
686340156039. 3
686340156040. 4

Question Number : 11 Question Id : 68634039509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156041. 1
686340156042. 2
686340156043. 3
686340156044. 4

Question Number : 11 Question Id : 68634039509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156041. 1
686340156042. 2
686340156043. 3
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Question Number : 12 Question Id : 68634039510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156045. 1
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Question Number : 12 Question Id : 68634039510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634039511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156049. 1
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Question Number : 13 Question Id : 68634039511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156049. 1
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Question Number : 14 Question Id : 68634039512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



it STl W . g S gt T 1 g § Il ARt S i [T § 1§ ogeh Al Bl S
1/6 1 T= &

1..6. 3.

| B

| B

8.4,

| ]

3.12.6.4
4.18, 12,6

Options :
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686340156055. 3
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Question Number : 14 Question Id : 68634039512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156053. 1
686340156054. 2
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Question Number : 15 Question Id : 68634039513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340156059. 3
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Question Number : 15 Question Id : 68634039513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634039514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340156061. 1
686340156062. 2

686340156063. 3
686340156064. 4

Question Number : 16 Question Id : 68634039514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156061. 1
686340156062. 2
686340156063. 3
6863401560064. 4

Question Number : 17 Question Id : 68634039515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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686340156065. 1
686340156066. 2
686340156067. 3
686340156068. 4

Question Number : 17 Question Id : 68634039515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634039516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156072. 4

Question Number : 18 Question Id : 68634039516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156069. 1
686340156070. 2
686340156071. 3
686340156072. 4

Question Number : 19 Question Id : 68634039517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634039517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340156074. 2
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686340156076. 4

Question Number : 20 Question Id : 68634039518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156077. 1
686340156078. 2
686340156079. 3
686340156080. 4

Question Number : 20 Question Id : 68634039518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 68634039519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156084.
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Question Number : 21 Question Id : 68634039519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156081. 1
686340156082. 2
686340156083. 3
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Question Number : 22 Question Id : 68634039520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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686340156086. 2
686340156087. 3
686340156088. 4

Question Number : 22 Question Id : 68634039520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340156088. 4

Question Number : 23 Question Id : 68634039521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SH-ATULHA (S féb aTe § YR BT AP &) Yo gl el SR del 1] 70
1. 24 SR 1050 &I SATEEG H

.24 Sa’t 1950 1 faewtt o

3.26 f39mR 1942 Dl PapT H

4.27 f49mR 1911 Bl Peddl H

[ ]

Options :

686340156089. 1
686340156090. 2
686340156091. 3
686340156092. 4

Question Number : 23 Question Id : 68634039521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SO (S b aTe H HIRd &1 1P &) 999 Ugd ® SR Sl M) T
1. 24 SFTI] 1950 &1 SEEE H
2. 24 SFadl 1050 Pl faweil §
3. 26 f[GHTR 1942 B HOP T
4,27 fGgraR 1911 Bl HaG H

Options :

686340156089. 1
686340156090. 2
686340156091. 3
686340156092. 4

Question Number : 24 Question Id : 68634039522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEAG IS URI PRE

FYT [ : Fme e & 90y a8 Adcded YR & aiaEed U]

FHU L : T AR B T 81 910 HRAE AT (G818 1946 HT SR I 5180 70l & YR A1aH]
GRI IR & [G5g (g1 T4 faalg o7

SRIad FYF & AP |, 4 [GU e [dhedl § I ol 3o &1 9049 D ITag:

1L BHEINRIIA 9§
2. FUFA 1R 1A T

FYT IO AT ey I T e

)

L¥¥]

HYT AT, Wi pUE 1 90 ©

H=s

Options :

686340156093. 1
686340156094. 2
686340156095. 3
686340156096. 4

Question Number : 24 Question Id : 68634039522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Py R

FYT [ - FIe e & Y @18 Oecded YRd & aiad Ul

HU 1 : §Hs R P! H g aTe YRAE A1 G518 1946 BT SR I SIS0 701 & YR A1aH]
GRI IRHR & [dog 91 a1 fagie ul

SR FYA & @i |, A G 70 [deedi § I 98! 3R &1 99 Sifoe:

1. BRI GH 90§
2. FYA AR IS 3T &

P I e AT U I 3

)

L¥¥]

HYT AT, Wi pUE 1 90 ©

H=s

Options :

686340156093. 1
686340156094. 2
686340156095. 3
686340156096. 4

Question Number : 25 Question Id : 68634039523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIgiae 19 SR a1 Al | urdl 9 arel 1 gl
1. fog=

o

2. e HIGES
3. ElRgeH
s

Options :

686340156097. 1
686340156098. 2
686340156099. 3
686340156100. 4

Question Number : 25 Question Id : 68634039523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS 19 3R SrarE g o urdt & arelt 1 gl
1. fage
3. glEsleH
1. g
Options :
686340156097. 1
686340156098. 2

686340156099. 3
686340156100. 4

[ ]

Part B: Biochemistry

Section Id : 686340778
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401300
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statement is true about nucleoside?

1. Nitrogenous base attached to OH of C-1' of pentose sugar

~

2. Phosphoryl group attached to C-5' of pentose sugar
3. Phosphoryl group attached to C-3' of pentose sugar
4. Phosphate group is attached to 2' C of pentose sugar

Options :

686340156101. 1
686340156102. 2
686340156103. 3
686340156104. 4



Question Number : 26 Question Id : 68634039524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
IFaUEEs & g H 298 9 BIF 9 HYF 90 o7
1. Ao &R Uels Y[R & 1°C IR OH ¥ 93l g
2. oIS I & 5°C W BIEPRISH 98 IS ¢l
3. 9ETSl T & 3°C Y BB RIET 998 Sodl ¢
4. YIS Y1 & 2'C U BIEhe HIE SISdl &

-

Options :

686340156101. 1
686340156102. 2
686340156103. 3
686340156104. 4

Question Number : 27 Question Id : 68634039525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is an amino acid?

1. Tryptophan

-

2. Proline
3. Lysine
4. Phenylalanine

Options :

686340156105. 1
686340156106. 2
686340156107. 3
686340156108. 4

Question Number : 27 Question Id : 68634039525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



fraferiRed & 9 1= sl o 82

1. fegits

2. El ﬁi -

3T E?‘ -

4. Eﬁ:I Eﬁ!ﬂé :“:I
Options :
686340156105. 1
686340156106. 2

686340156107. 3
686340156108. 4

Question Number : 28 Question Id : 68634039526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following antibodies can cross the placenta?

1. 1gA

! -
—
g
()

4. IgE
Options :
686340156109. 1
686340156110. 2

686340156111. 3
686340156112. 4

Question Number : 28 Question Id : 68634039526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Fafafad 4 9 oH 91 wiarall ST & UR o 9l 52
1.1gA
2. 1eG
3. 1M
4.1gE

Options :
686340156109. 1



686340156110. 2
686340156111. 3
686340156112. 4

Question Number : 29 Question Id : 68634039527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the net charge of glutamate at pH 77

1.+]
2.0
Y
4. -1
Options :

686340156113. 1
686340156114. 2
686340156115. 3
686340156116. 4

Question Number : 29 Question Id : 68634039527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

pH 7 TR TIEHE TR b a9 F1 8Idl 87

1.+1

Options :

686340156113. 1
686340156114. 2
686340156115. 3
686340156116. 4

Question Number : 30 Question Id : 68634039528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Non-active protein part of an enzyme that requires cofactor for activation is

1. apoenzyme

-2

. holoenzyme
3. coenzyme
4. ribozyme

Options :

686340156117. 1
686340156118. 2
686340156119. 3
686340156120. 4

Question Number : 30 Question Id : 68634039528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foplt Tog R @1 Jfshamie = U, o Tieadl & U U8 $RS & SMagdai el 6. 98 6

1. TUITSTEH

. BlagogH
3. BITOEH
4. TEESISH

Options :

686340156117. 1

686340156118. 2

686340156119. 3
686340156120. 4

[ ]

Question Number : 31 Question Id : 68634039529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Insulin-dependent glucose uptake by adipose tissue is the result of

1. cotransport of glucose with sodium against concentration gradient

2

. simple diffusion of glucose down the concentration gradient
3. ATP-dependent transport of glucose against concentration gradient
4. transfer of GLUT transporters from intracellular vesicles to cell membrane

Options :
686340156121. 1



686340156122. 2
686340156123. 3
686340156124. 4

Question Number : 31 Question Id : 68634039529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aT FHaP GRS R R Teepior &1 srasiyor, uRumg & -
1. Higd! Yqurdl & (99 GIfsTH & Q1Y Ifbiol &1 He-aRds- |
2. Tigdl UaUrdl & WY DI BT JH TR
3. Figdl YgUIdl & [d%g TWDIS BT ATP SR TRag
4. SRISIRDY giesmradl W HIRw] f2iei ¥ GLUT URae® o1 -

)

Options :

686340156121. 1
686340156122. 2
686340156123. 3
686340156124. 4

Question Number : 32 Question Id : 68634039530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following motor proteins is involved in intracellular transport along mierotubules?

1. Myosin

2. Kinesin
3. Dynein
4. Both Myosin and Dynein

Options :

686340156125. 1

686340156126. 2

686340156127. 3
686340156128. 4

Question Number : 32 Question Id : 68634039530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁ?ﬁ@ﬂﬁﬁ{motor}ﬁﬁﬁ@ﬁqﬁﬁﬂﬁﬁﬂﬁﬁﬂwwﬁ@ﬁ‘%’lﬁ%ﬁ’
1. TR
IR
3. 8124
4. AT 3R S8 gH
Options :
686340156125. 1
686340156126. 2

686340156127. 3
686340156128. 4

[ )

Question Number : 33 Question Id : 68634039531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following cellular organelle is involved in Tay-Sachs disease (TSD)?

1. Golgi

J

. Lysosomes

L¥ ]

. Endoplasmic reticulum

4. Mitochondria
Options :
686340156129. 1
686340156130.2

686340156131. 3
686340156132. 4

Question Number : 33 Question Id : 68634039531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafalad & T &9 91 SIS -39 (Tay-Sachs) I (TSD) § il 82
1. sl
S
3. 31=:U%d Sifceb]
4 TTECIEIA

Options :

| B



686340156129. 1
686340156130. 2
686340156131. 3
686340156132. 4

Question Number : 34 Question Id : 68634039532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

During DNA repair , which of the following enzymes 1s involved i phosphodiester bond formation 7

1. DNA polymerase

12

. DNA ligase

LFN]

. Phosphodiesterase
4. Primase

Options :

686340156133. 1
686340156134. 2
686340156135. 3
686340156136. 4

Question Number : 34 Question Id : 68634039532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 9 U o o & e, FEfeiad § € oF 91 tegs BiEnissuer gy Hat § g g
. SLUAL. "ieiHRS
2. BT T
3, IR ISISURRIUS]
4. TTSHS
Options :
686340156133, 1
686340156134. 2

686340156135. 3
686340156136. 4

—

Question Number : 35 Question Id : 68634039533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is not true about endotoxin?

1. Endotoxin is hieat-stable

| S]

. Endotoxin is strongly immunogenic
3. Endotoxin 1s present in gram negative bacteria
4. Endotoxin 15 a lipid in nature

Options :

686340156137. 1

686340156138. 2

686340156139. 3
686340156140. 4

Question Number : 35 Question Id : 68634039533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiea & sraeliidy & 9) H 31 98 781 o7
1. 3Foifaray HL-RR €
2. SIeifaiay ee wiaremas ¢
3. Jeilalay 1g =Hifed Sitar] § uRT S1d &
. oifaray SHg Ul % g g

-]

fea

Options :

686340156137. 1
686340156138. 2
686340156139. 3
686340156140. 4

Question Number : 36 Question Id : 68634039534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Upon re-exposure to a previous pathogen. which immune response will be most likely the fastest one?

1. Innate immunity

b2

. Complement activation

LFN]

. Adaptive immunity and immunological memory
4. Killer T cells

Options :
686340156141. 1



686340156142. 2
686340156143. 3
686340156144. 4

Question Number : 36 Question Id : 68634039534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS & G: YU TR, S 9 URET S1d7 & digad 514 & Ir1a1 gl o2
1. TSl FIcRET

2. R Hich gl
3. SFpior AfcRan 37 ufeReft Jfa

4. 9P T-HIRDHIT

Options :

686340156141. 1
686340156142. 2
686340156143. 3
686340156144. 4

Question Number : 37 Question Id : 68634039535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is true about MHC class 11?7

1. Present extracellular peptides to CD8+ cells

-

2. Present intracellular peptides to CD8+ cells
3. Present extracellular peptides to CD4+ cells
4. Present intracellular peptides to CD4+ cells

Options :

686340156145. 1
686340156146. 2
686340156147. 3
686340156148. 4

Question Number : 37 Question Id : 68634039535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MHC @ (class) 11 & SR § &1 I 82

. STe] SIFT UPIEs S cD 8+ HImsi § ufRa e g
2. 3T TS UPIES B €D 8+ HIHI3H H U@ giar g
3. 978l IS GPIES I CD 4+ SIH1el & SufRE e ol
4. 3=: DIRABIY UPISS B €D 4+ BB B IuRG ST 81

—

-]

Options :

686340156145. 1
686340156146. 2
686340156147. 3
686340156148. 4

Question Number : 38 Question Id : 68634039536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Patients with Galactosemia are advised not to take dairy products because

1. they have defective p-galactosidase and cannot digest lactose in dairy products

b2

. they cannot metabolize galactose digestion product of lactose
3. they cannot digest the fats present in dairy products
4. they cannot digest the proteins present in dairy products
Options :
686340156149. 1
686340156150. 2

686340156151. 3
686340156152. 4

Question Number : 38 Question Id : 68634039536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Tciee At & IR Bl Su) FdIEl Dl el |- B Harg &1 |l 8, ol b -
318 SINgad p-daeHIS S gidl & SR 3 SR 31! § U daeisl &1 UTa- g1 Hx 9a |
2. 3 UFEISl & IAIE gl Bl UrEE. JUTTEy el B 9|
3.9 34¥ IcTal H SUTRYd 991 BT Ira- 8] B Hobd
4.9 SR IrEl § SUIRYG WIdH @1 Ui el & 9bd

Options :

il
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686340156149. 1
686340156150. 2
686340156151. 3
686340156152. 4

Question Number : 39 Question Id : 68634039537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glycerol kinase is not expressed in

1. adipose tissue

J

liver

L¥ 5]

. kidney
4. heart
Options :
686340156153. 1
686340156154. 2

686340156155. 3
686340156156. 4

Question Number : 39 Question Id : 68634039537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
erRId w9 Jfycodd Tl gldl :
1. TSI Gasi 0
2.9%d
3,99 (T9) |
4.850Y

Options :

686340156153. 1
686340156154. 2
686340156155. 3
686340156156. 4

Question Number : 40 Question Id : 68634039538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In prolonged starvation. a minimum glucose level is maintained for supplying glucose to brain and RBCs. This
is achieved by

1. glycogenolysis in liver

| B

. gluconeogenesis in liver and kidney
3. glycogenolysis mn muscle
4. gluconeogenesis in muscle and liver

Options :

686340156157. 1
686340156158. 2
686340156159. 3
686340156160. 4

Question Number : 40 Question Id : 68634039538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Y I 4 Y6 &) YT H, AfETss SR R.B.Cs &I SIS B U o (o0, a0 T s &1 ¥R
ST T ST & | 9 I fohal S g -

1. T5d ¥ WSS Y gRI

IS SR ggh (o) W B IHgIS- R R

3. Ul § /g e oHIeg g gl

4, UM SR T%d H 1@ o R gRI

Options :

686340156157. 1
686340156158. 2
686340156159. 3
686340156160. 4

| B

Question Number : 41 Question Id : 68634039539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a cis-acting element?

1. cAMP response binding protein

| S

. Operator

L¥ 5]

. Repressor

4. Terminator



Options :

686340156161. 1
686340156162. 2
686340156163. 3
686340156164. 4

Question Number : 41 Question Id : 68634039539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FefifeT g 9 e 9N aFams aa g
. cAMP 3{fehar deHg widH
2. Ve
3. GHAGRI

4. JHIUD

ik

)

Options :

686340156161. 1
686340156162. 2
686340156163. 3
686340156164. 4

Question Number : 42 Question Id : 68634039540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Oligomycin blocks the electron transport chain by

1. mhibiting the complex III

J

. inhibiting ATP svnthesis by preventing influx of protons through ATP synthase
3. inhibiting the complex IV
4. inhibiting the complex IIT and IV both

Options :

686340156165. 1
686340156166. 2
686340156167. 3
686340156168. 4

Question Number : 42 Question Id : 68634039540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ARSI Seide i URkae o Bl 3a9G PR a8 -
1. PTG 11 Pl TG DD
2. ATP FUS & §RI. UICH & 3{THA DI APDHL, ATP HRAU] Pl 3HaTg Bl
3. DIHF IV Pl HTTGE PP
4. I 111 SR IV, SFI B SHaoS Pb

Options :

686340156165. 1
686340156166. 2
686340156167. 3
686340156168. 4

Question Number : 43 Question Id : 68634039541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many ATP molecules are produced for each molecule of FADH?2 oxidized via the respiratory chain?

1. 05

b2
Y

335
4. 2

Options :

686340156169. 1
686340156170. 2
686340156171. 3
686340156172. 4

Question Number : 43 Question Id : 68634039541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O 4@dl & GRI YUD FADH2 & 3U[ U= ¥ e+ ATP U] 3= 6ld 67

1.05

b
—

3:1.5
4.2

Options :
686340156169. 1



686340156170. 2
686340156171. 3
686340156172. 4

Question Number : 44 Question Id : 68634039542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In E. coli, pur repressor regulates the expression of more genes as compared to lac repressor because
1. pur repressor binds to DNA without corepressor
2. pur repressor is expressed at a much higher level
3. there are more pur operator sequences in E. coli genome
4. pur repressor is expressed at a much lower level
Options :
686340156173. 1
686340156174. 2

686340156175. 3
686340156176. 4

Question Number : 44 Question Id : 68634039542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e, T Pur R (R GHPRI). 0P gHAGR! I ga-1 8 {4 SiH| & Haa= S siflycdead Hdl 6.
Fife -

1. R TSR], {71 98 e0eRl & S U9 T ¥ &y Hdl ol
2. R TR e I 'R W fioged gidl 3

3.5 DIAls & oM § U Pur () VLTS 364 81d 6
4. R TSR e e TR W Hfemed g1 g

Options :

686340156173. 1
686340156174. 2
686340156175. 3
686340156176. 4

)

Question Number : 45 Question Id : 68634039543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Glomerular filtration rate 1s determined by creatinine clearance test and inulin clearance test. Which of the
following statements 1s true about GFR?

1. Inulin clearance gives the exact measurement of GFR.

2

. Creatinine clearance gives the exact measurement of GFR.
3. Inulin clearance overestimates GFR.

4. Both inulin and ereatinine clearance overestimate GFER.

Options :

686340156177. 1
686340156178. 2
686340156179. 3
686340156180. 4

Question Number : 45 Question Id : 68634039543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁﬁ&?aﬂﬁaﬁm%@:ﬁ?ﬁmﬂ SiTd iR gfe FSIeA wiid gRI Sl 81 ol U% 3R &

e IeA, GFR &1 Tt SHT S $Ral 8
. forufeia Feares. orr &1 aurd S eE FRar g
. gfe 818 GFR @1 ardfdedl 9 Siffie SHH a1 gl

.as%?aﬁimﬁ:ﬂqﬁﬁﬁwemﬁamﬁwa{%&ﬂﬂﬂ
|

Options :

686340156177. 1
686340156178. 2
686340156179. 3
686340156180. 4

—t

| §)

L&)

H=s

Question Number : 46 Question Id : 68634039544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In hepatocellular disease
1. only conjugated bilirubin levels are increased
2. only unconjugated bilirubin levels are increased
3. both conjugated and unconjugated bilirubmn levels are increased
4. conjugated bilirubin levels are increased and unconjugated bilirubin levels are decreased
Options :
686340156181. 1
686340156182. 2

686340156183. 3
686340156184. 4

Question Number : 46 Question Id : 68634039544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BUCIBIBT I H Il & -
. aw Hgfid fedlefed d e A ofg
. Pad HGHd [eaiieiad & R H 9lg
Hgfd SR g fqeisien. s & TR 4 afg
 Hgfid faelielen & wR 1 gie ok sregiid fadieias & wr O ol

il

[ )
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fea

Options :

686340156181. 1
686340156182. 2
686340156183. 3
686340156184. 4

Question Number : 47 Question Id : 68634039545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AST / ALT ratio is decreased in

1. myocardial infarction

b2

. acute hepatocellular damage

LFN]

. damaged kidney
4. both damaged kidney and heart

Options :
686340156185. 1



686340156186. 2
686340156187. 3
686340156188. 4

Question Number : 47 Question Id : 68634039545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AST / ALT 3F9Td H o4t g1t 81

1. fad @1 &R (E@ISTd SHIHeH)
2. 119 39 SIS &d

3. 7] 1 &1

4. fod SR g, SFi &t aifa

Options :

686340156185. 1
686340156186. 2
686340156187. 3
686340156188. 4

Question Number : 48 Question Id : 68634039546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

At 50% saturation. each Hb molecule has bound.

1. one 05 molecule
2. two O; molecules
3. three O, molecules
4. four O; molecules

Options :

686340156189. 1
686340156190. 2
686340156191. 3
686340156192 4

Question Number : 48 Question Id : 68634039546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



50% HJIdl § e Hb 3] {upsii &1 Heg &4 Bl ¢

1.UF 0,
2.910,
3.4 0,
4.9R 0,

Options :

686340156189. 1

686340156190. 2

686340156191. 3
686340156192. 4

Question Number : 49 Question Id : 68634039547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Internal respiration occurs in
1. nose
2. lungs

3. heart

4. tissue throughout the body

Options :

686340156193. 1
686340156194. 2
686340156195. 3
686340156196. 4

Question Number : 49 Question Id : 68634039547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTINT T BT

14915 H

2. PUpH (Bhsl H)
3. 850d
4. 901 SRR & Gl o

Options :



686340156193. 1
686340156194. 2
686340156195. 3
686340156196. 4

Question Number : 50 Question Id : 68634039548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following factors affects the atfinity of hemoglobin for oxygen?

1.pH

J

. Temperature
3. Binding of 2.3-bisphosphoglycerate
4. pH. temperature and binding of 2.3-bisphosphoglycerate
Options :
686340156197. 1
686340156198. 2

686340156199. 3
686340156200. 4

Question Number : 50 Question Id : 68634039548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fFafafEd ¥ T oF 913 oR® gErdes ©f Aahia & 91y Tig e & THIad Ssand?

1.pH

| ]

[ =

2.3-[aeB e es e &1 saeH

. pHL TT0HM 3R 2,3- s iie &1 ey

Options :

686340156197. 1
686340156198. 2
686340156199. 3
686340156200. 4

[#%)
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Question Number : 51 Question Id : 68634039549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To solve the mystery of spoilage of wine. Pasteur observed yeast and bacteria in the fermented grape juice
(wine). Through a series of experiments, he proved

1. yeast and bacteria are required for fermentation of grape juice/ alcohol formation

| B

. yeasts 1s required for fermentation/alcohol formation and bacteria result in spoilage of wine
3. bacteria are required for alcohol formation and yeasts result in spoilage of alecohol
4. both yeast and bacteria result in spoilage of alcohol

Options :

686340156201. 1
686340156202. 2
686340156203. 3
686340156204. 4

Question Number : 51 Question Id : 68634039549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRTE & B & Yo & FHIUH & HIYE & {60 UieER - St ofR & 39 ®R1E) 3 4w 3R
SHIaTup3fi &1 Hafur foan| warT & Hol § 38+ g foar e

. 3R & 39 9 Uedhigd & A0 & (70 diRe SR Siiarusi gR1 fdua Sa=ae ¢
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Options :

686340156201. 1
686340156202. 2
686340156203. 3
686340156204. 4

Question Number : 52 Question Id : 68634039550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Penicillin, the first found natural antibiotic acts by

1. inhibiting protein synthesis

b2

. inhibiting cell wall synthess

LFN]

. inhibiting DNA replication

4. disrupting the cell membrane



Options :

686340156205. 1
686340156206. 2
686340156207. 3
686340156208. 4

Question Number : 52 Question Id : 68634039550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YA 1 vioifds UiedE | s axare:
1. UIdH H=eiyul & 3{a3ie gRI
2. DIfRepT il HAWU § HaRIY gRI
B T T HfplagT | s@iiy g1
4. BIfRIDT el BT 98 BB

)
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Options :

686340156205. 1
686340156206. 2
686340156207. 3
686340156208. 4

Question Number : 53 Question Id : 68634039551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Some microbes survive or grow at very high temperatures because of

1. heat-shock protein synthesis

J

. molecular chaperones to prevent or repair protein denaturation

L¥ 5]

. thermostability of enzymes

4. heat-shock protein synthesis. molecular chaperones to prevent or repair protein denaturation
and thermostability of enzymes

Options :

686340156209. 1
686340156210. 2
686340156211. 3
686340156212. 4

Question Number : 53 Question Id : 68634039551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156209. 1
686340156210. 2
686340156211. 3
686340156212. 4

Question Number : 54 Question Id : 68634039552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the first scientist to prove the Germ Theory of disease?

1. Robert Koch

J

. Edward Jenner
3. Louis Pasteur
4. Joseph Lister
Options :
686340156213. 1
686340156214. 2

686340156215. 3
686340156216. 4

Question Number : 54 Question Id : 68634039552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
AT S MY g i g S 9Tl uy™ a3-ie 47
1.]1a¢ SF
_USTS O
3. 059 UIER
4. S feree

Options :
686340156213. 1

[ ]



686340156214. 2
686340156215. 3
686340156216. 4

Question Number : 55 Question Id : 68634039553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the polarized epithelial cells of PCT of kidney. the difference in apical and basolateral membrane is
maintained by

1. tight junctions

[ ]

. microvilli

. desmosomes

L¥¥]

4. hemidesmosomes

Options :

686340156217. 1
686340156218. 2
686340156219. 3
686340156220. 4

Question Number : 55 Question Id : 68634039553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qaH P PCT B YA IUGal DITb131 B 2N iR aref e il @1 $8@-3E &1 i g

1. T¢ Hiegi gry
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3. SN gRI
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Options :

686340156217. 1

686340156218, 2

686340156219. 3
686340156220. 4

[ ]

Question Number : 56 Question Id : 68634039554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a double-stranded DNA has 30% Guanine. what will be the percentage of Adenine?

1. 40%

e
[
=
=]
[ = B

4.15%

Options :

686340156221.
686340156222.
686340156223.
686340156224.

AW N~

Question Number : 56 Question Id : 68634039554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fovee 3w v H 30% a1 81 59 U 3t ufa=raar & g

1. 40%

| B

. 20%

4.15%

Options :

686340156221.
686340156222.
686340156223.
686340156224.

AW N =

Question Number : 57 Question Id : 68634039555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recognition sequence of Restriction Endonuclease : BamH]1 1s

- AAGCTA—-
" ek TTOGAT

—GGATCC—
—CCTAGG —

| B

— GTACAG—
—CATETE—

4 —AGATCA—
' —TCTAGT —

Options :

686340156225. 1
686340156226. 2
686340156227. 3
686340156228. 4

Question Number : 57 Question Id : 68634039555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

glee USRI[aIUS BamH]1 1 GHIT TSI 54 o

—AAGCTA—
" - TTCGAT——

— BGATER
—CCTAGG —

[ ]

— GTACAG—
— CATGTC—

, —AGATCA—
" —TCTAGT —

Options :

686340156225. 1
686340156226. 2
686340156227. 3
686340156228. 4

Question Number : 58 Question Id : 68634039556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is not correct?

1. The presence of an enzyme has no effect on AG*
2. At equilibrium, the rate constants of forward and backward reaction are equal.
3. Active site histidyl residues frequently aid catalysis by acting as proton donors and acceptors.
4. Enzymes lower the activation energy for a reaction.

Options :

686340156229. 1

686340156230. 2

686340156231. 3
686340156232. 4

Question Number : 58 Question Id : 68634039556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et @ 9 o 9 oy 99 18l 8°
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Options :

686340156229. 1
686340156230. 2
686340156231. 3
686340156232. 4

Question Number : 59 Question Id : 68634039557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In hypothetical enzymatic reaction
ENZyme ENZYyme

A—1—sB—Z2 ¢
the end product C is allosteric inhibitor of Enzyme 1. C will also regulate the activity of Enzyme 1 by

1. competitive inhibition

[ ]

. feedback inhibition

. irreversible inhibition

Lad

4. competitive inhibition and irreversible inhibition both

Options :

686340156233. 1
686340156234. 2
686340156235. 3
686340156236. 4

Question Number : 59 Question Id : 68634039557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF dHicdd TagH ffhar
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Options :

686340156233. 1
686340156234. 2
686340156235. 3
686340156236. 4

Question Number : 60 Question Id : 68634039558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following elements binds to protein and forms a eritical DNA binding motif?

1. Manganese
2. Zmc
3. Cobalt
4. Copper

Options :

686340156237. 1

686340156238. 2

686340156239. 3
686340156240. 4

Question Number : 60 Question Id : 68634039558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeied & 9 19 91 dw@ UIeH 3 o6y Bdl & 3R H8ayUl DNA SEY & 3520 1 gl a1 52
1. BT
fSi®
3. Bldlee

| )

: W i
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Options :

686340156237. 1
686340156238. 2
686340156239. 3
686340156240. 4

Question Number : 61 Question Id : 68634039559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kwashiorkor disease is linked with insufficient intake of

—

. carbohydrates

b2

. proteins
3. vitamin C
4. electrolytes

Options :
686340156241. 1



686340156242. 2
686340156243. 3
686340156244. 4

Question Number : 61 Question Id : 68634039559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIRARSR I H1 HaY fFad saaid sy ¢
1. FEgEaC
2. TidH
3. faei1 ¢
4. IS

Options :

686340156241. 1
686340156242. 2
686340156243. 3
686340156244. 4

Question Number : 62 Question Id : 68634039560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following groups consists of only aromatic compounds?

1. Tyrosine. Threonine and Phenylalanine

~

2. Phenol, Tyrosine and Phenylalanine
3. Phenol. Histidine and Tryptophan
4. Tyrosine. Phenylalanine and Proline

Options :

686340156245. 1
686340156246. 2
686340156247. 3
686340156248. 4

Question Number : 62 Question Id : 68634039560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156245. 1
686340156246. 2
686340156247. 3
686340156248. 4

Question Number : 63 Question Id : 68634039561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements is true?

1. Molecular weight is expressed m Daltons.

J

. Molecular mass 18 expressed m Daltons.
3. Relative molecular weight 15 expressed in Daltons,
4. Relative molecular mass is expressed i Daltons.

Options :

686340156249. 1
686340156250. 2
686340156251. 3
686340156252. 4

Question Number : 63 Question Id : 68634039561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 3OIYR P STee § 3ifieuad & ol §

2. HUEEIHH Sl STec H o a1 o §

3. o U[UR STeed O sifioed faar o &

4. T SU[Eo0HH Sleed ¥ fiyored faar oial &

Options :



686340156249. 1
686340156250. 2
686340156251. 3
686340156252. 4

Question Number : 64 Question Id : 68634039562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Molarity is a better way of expressing the concentration of solution as compared to gram percent especially

1. under all conditions

2

. for anhydrous molecules

aa

. for molecules with different hydrated states
4. for all solids and liquids

Options :

686340156253. 1

686340156254. 2

686340156255. 3
686340156256. 4

Question Number : 64 Question Id : 68634039562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156253. 1
686340156254. 2
686340156255. 3
686340156256. 4

Question Number : 65 Question Id : 68634039563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Limmeweaver-Burk plot of a viral enzyme in presence of two drugs 1s shown here. Which of the following
statements regarding the actions of drugs is true?

A. Drug A acts as competitive inhibitor.
B. Drug B acts as competitive inhibitor.
C. Drug A acts as non-competitive inhibitor.
D. Drug B acts as non-competitive inhibitor.

1.AandB

[

AandD
3.BandC

4 CandD

Options :

686340156257. 1
686340156258. 2
686340156259. 3
686340156260. 4

Question Number : 65 Question Id : 68634039563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156257. 1
686340156258. 2
686340156259. 3
686340156260. 4

[ )

Question Number : 66 Question Id : 68634039564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : During starvation. when f-oxidation of fatty acids is predommant in liver. acetylCoA formed
enters the citric acid cyele.

Reason (R) : AcetylCoA must combine with oxaloacetate to gain entry to the citric acid cycle.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

| )

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L)

. (A) 15 correct but (R) is not correct
4. (A) 1s not correct but (R) is correct

Options :
686340156261. 1



686340156262. 2
686340156263. 3
686340156264. 4

Question Number : 66 Question Id : 68634039564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340156261. 1
686340156262. 2
686340156263. 3
686340156264. 4

Question Number : 67 Question Id : 68634039565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Maternal blood O, saturation 1s quite low in placenta. Even at this lower saturation. O, 1s

readily transferred to fetal blood.
Reason (R) : Fetal hemoglobimn binds BPG less strongly. thus having higher affimty for O, as compared to

adult hemoglobin.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3. (A) 15 correct but (R) 1s not correct
4. (A) 1z not correct but (R) 1s correct
Options :
686340156265. 1

686340156266. 2
686340156267. 3



686340156268. 4

Question Number : 67 Question Id : 68634039565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

ﬂ%glﬁwﬁqm%‘: U® HUBUA (Assertion A) & =0 H ifad § ol S8 3P PRI (Reason R) &
+=yyq.

THYT A : T ORI T A I BT 0, YJwid ggd HH 8ldl 6. a6 U 28 $H Tgwdl T 0,. Yo & I
T 3t S wEaRd S et gl

HRUTR ; Yoita SHTEE BPG & U4 &8 Holgd STaeH FRdl o, o 598 % & eiiala 31
UM 0, B Ul e Tma AT gl

QI BYH & 3faid J. Hid ST T fddped] § I Tgl 30 &1 999 DI :

1. A R R M 981 & SR R. A D! Hel TR &

A SRR A 98l E, AT R A B I sarEm Ad @
ATEE PR T AR

ATEI TR AT R EE B

Options :

686340156265. 1
686340156266. 2
686340156267. 3
686340156268. 4

| )

(Y]

e

Question Number : 68 Question Id : 68634039566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Agsertion (A) : Insulin acts on multiple tissues as compared to glucagon.

Reason (R) : Insulin 1s lipid soluble and easily passes through cell membrane of target cells.

In the light of the above statements. choose the most appropriate answer from the options given below.

—

. Both (A) and (R) are correct and (R) 18 the correct explanation of (A)

[ B

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L¥¥]

. (A) 1s correct but (R) 1 not correct
4. (A) 1s not correct but (R) is correct

Options :

686340156269. 1
686340156270. 2
686340156271. 3
686340156272. 4



Question Number : 68 Question Id : 68634039566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3l 2 (ST T §: U 3BT (Assertion A) & & H {oRGd ¢ Al gHI 3UD BRI (Reason R) B
g1 .

HBEYT A : B B 3Uef, T Fd®| Pl T8 BRI Bl o,
W%R:ég%qmﬁwﬁﬁm% T 6T BRI B BT et F =T ¥ UR Fa
S gl

JWRIFT BYF b 3fdlD H, Hid [0 T [dped] § I Ugl 3R &1 999 DIl

1. A 3R R I 981 § SR R. A D! G5l TR &

2. A SRR G 98l &, 9id-1 R A BT HE! R T8l §
3. ATEI E, AT R IR ST R

4. AFTEI 5l 5. AP R WEl ©

Options :

686340156269. 1
686340156270. 2
686340156271. 3
686340156272. 4

Question Number : 69 Question Id : 68634039567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other 1s labelled as Reason (R) :
Agsertion (A) : Oxidative phosphorylation—the synthesis of ATP from ADP and inorganic phosphate requires
Snergy.

Reason (R) : The energy for oxidative phosphorylation is provided by the proton gradient generated during
electron transport chain.

In the light of the above statements. choose the most appropriate answer from the options given below.

ik

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

| ]

. Both (A) and (R) are correet but (R) is not the correct explanation of (A)

5]

. (A) 1s correct but (R) is not correct

ey

. (A) 1s not correct but (R) 18 correct

Options :

686340156273. 1
686340156274. 2
686340156275. 3
686340156276. 4

Question Number : 69 Question Id : 68634039567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1 Bl 2 (ST T §: U 3BT (Assertion A) & &0 H [oRGd ¢ 0l g8 39D HRUT (Reason R) &
P =

HfHYT A - aﬂg@ﬁ%ﬁﬁﬂ?@ﬁﬂsﬁw ATP 3R HFHTEE BIEhe § ADP & G & 0w Soll &t
HaHal e gl
WR:H@HW@H%WW&WWW%W.WWWﬁ@
e & Sl o

QWRIFT BYF o A@AlD H, Hid (G0 T fdmed] § U el 3wk &1 999 Dol

A SR R I Ul § IR R. A D S ARAT &

2. A SRR G T §. AfFTR AT TS e A ®
ATEE AT R TE SR

AUE TR, AT R U §

Options :

686340156273. 1
686340156274. 2
686340156275. 3
686340156276. 4

ik

)

L¥¥]

H=s

Question Number : 70 Question Id : 68634039568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other iz labelled as Reason (R)
Assertion (A) : Glucose gets trapped in extrahepatic tissues and does not move out of the cell.

Reason (R) : Glucokinase irreversibly phosphorylates glucose to glucose-6-phosphate in extrahepatic tissues.
There are no transporters for glucose-6-phosphate and glucose gets trapped in extrahepatic tissues.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

)

2. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)

L)

. (A) 15 correct but (R) is not correct
4. (A) 1s not correct but (R) is correct

Options :

686340156277. 1
686340156278. 2
686340156279. 3
686340156280. 4

Question Number : 70 Question Id : 68634039568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 F2F (AU U B U U@ (Assertion A) & & H 1RGd © O G8R1 394 BRI (Reason R) &
FO0H -

HIYFUT A : T Tel Hldad gUlc® SHadi § §UEId 61 oildl § SR ST I S8R e ordl|

PR R : A(dRE gUICh Fdd! H TTDIHEo BT BIEDRISIC DI H D I-6-plehe § SchHul
BId1 & | TP IS-6-DBE B By URAISD | ei- J g8 SHdad gUicd SHad| 1 Gueid ol ol 6|
SR BYT & 3faied |, i f4U 7T [aoedi § ¥ Te! 3R &1 99 Hifol ;

A SRR EHI Ugl § IR R. A DI UGl AT &

A SRR I8 8. AfP1R. AT T8l AR 781 §
ATEE dfpT R TR SR

AYEI el g diPAR TR ©

Options :

686340156277. 1
686340156278. 2
686340156279. 3
686340156280. 4

ik

[

L¥¥]

H=s

Question Number : 71 Question Id : 68634039569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Agsertion (A) and the other 13 labelled as Reason (R) :
Asgsertion (A) : Salt 1s added as a preservative for storage of meat.

Reason (R) : Salt creates hypertonic environment and most bacteria cannot grow in hypertonic media.

In the light of the above statements. choose the most appropriate answer from the options given below.

—

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

b2

. Both (A) and (R) are correct but (R) is not the correct explanation of (A)

L¥%]

. (A) is correct but (R) 1 not correct
4. (A) 1s not correct but (R) 1s correct

Options :

686340156281. 1
686340156282. 2
686340156283. 3
686340156284. 4

Question Number : 71 Question Id : 68634039569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 B2 AU U §: U 1Y (Assertion A) & &0 H o190 © O G8R1 39d HRUT (Reason R) &
0T .

HFUHUA A - I P YSRUI & [0, THS BT URRES S &0 H (e S |

BRUR : 706 U TR ATaraRul daR Sl § SR e oiiar] SfdurERl g § gig el &%
Hepdl |

SR HYF & 3l T, A= S0 7T fdpedi T 9 9el Ik &1 997 i :

1. A 3R R Gl 9El § SR R. A D! gl WA &

2. A SR R S 98l 8. 91 R. A BT UE! RAT T8l ©
3. ATEI E. SfpT R IR ST R

4. ATEI 5l 5. AP R WEl &

Options :

686340156281. 1
686340156282. 2
686340156283. 3
686340156284. 4

Question Number : 72 Question Id : 68634039570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion (A) and the other is labelled as Reason (R) :
Asgsertion (A) : Restriction endonuclease cleave the foreign viral DNA inside the bacterial cell, but bacterial
DNA 1s protected from Restriction Endonuclease attack.

Reason (R) : Bacterial DNA does not contain recognition sequence of restriction endonuclease.

In the light of the above statements, choose the most appropriate answer from the options given below.

ok

. Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

2. Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
3. (A) is correct but (R) 15 not correct

4. (A) 1s not correct but (R) is correct

Options :

686340156285. 1
686340156286. 2
686340156287. 3
686340156288. 4

Question Number : 72 Question Id : 68634039570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 Bl 2 (ST T §: U 3BT (Assertion A) & & H [oRGd ¢ Al gHI 3UD BRI (Reason R) &
E0H

@Y A« WS Usgfaaus, Aoy, [audg SI UF U & Sidiv] ST & 3 [dea &l 6.
U= SiIaId R UL, Uiaay USi-g(aaus 9 o491 edl 6

HRUIR : SamEE Suae & ufades tsrafeaus 3 9gam 9 ofed el el

QWRIFT BYH o 3dlD H, Hid (ST T [dped] § I Ugl 3R &1 999 DIl

1. A 3R R M 981 § SR R. A D! Y51 TR &

A SRR EF U8 8. OB R. A ! HEl AR 761 §
3. ATEI E, AT R IR ST R

4. AFTEI 5l 5. AP R WEl ©

Options :

686340156285. 1
686340156286. 2
686340156287. 3
686340156288. 4

[

Question Number : 73 Question Id : 68634039571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Enzymes involved in urea biosynthesis from amimonia are listed below. Arrange these in order of their actions

A. Arginase

B. Ornithine carbonyl transferase

C. Argininosuccinate lyase

D. Carbamoyl phosphate synthetase I
E. Argininosuccinate synthetase

Choose the correct answer from the options given below.
1,E,D.C.B. A
2Z2DA B, CE
3.A.B,C,D.E

4 D.B.E.C.A

Options :

686340156289. 1
686340156290. 2
686340156291. 3
686340156292. 4

Question Number : 73 Question Id : 68634039571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ST 4 g & S RN 8 giiferd USgdl of - YHiag 1 1 ) §%. 5790 hdl 3 &
%Y 4 aid Diu;

A HRIGHS

B. HIHH FEia s
C. HRSHFEFHT A5TS
D. ®IaHIGH Blehe eI

E. HRGIHH gaHe s
414 fau U faeei o 9 98l 3R o1 994 Sifet:

1.LE.D.C.B.A

2Z2D.AB.C.E
3.AB.C.D.E
4.D.B.E.C/A

Options :

686340156289. 1
686340156290. 2
686340156291. 3
686340156292. 4

Question Number : 74 Question Id : 68634039572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the stages of infection process as they occur :

A. Evasion from host defence mechanism
B. Entry of pathogen

C. Damage to host cell

D. Exit from the host

Choose the correct answer from the options given below.

1.B.A.C.D

| B

Ay By D

BiAD.C

L¥¥]

4.C,D.AB

Options :

686340156293. 1
686340156294. 2
686340156295. 3
686340156296. 4



Question Number : 74 Question Id : 68634039572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

b AUl B Uichdl o fafirs =Rl &1, 54 d Bid ©. SH! 3 d § oafeyd B

A OTYT & GR&T oF BT 37ER0
B. IS DT U4l

C. g FifRresT o1 3maT (&)
D, IS} S 1fereT § fAafeq

At fau 7Y fawent H 9 el S &1 997 S

1B, AL D

[ )

_A.B.C.D
3.B.A.D.C
4.C.,D.A.B

Options :

686340156293. 1
686340156294. 2
686340156295. 3
686340156296. 4

Question Number : 75 Question Id : 68634039573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages of bacterial growth curve chronologically :
A. Lag phase
B. Stationary phase

C. Log phase
D. Death phase

Choose the correct answer from the options given below.

LA B.CD

| B

.B.A.C.D

.C.A.B.D

L¥¥]

4 A.C.B.D

Options :

686340156297. 1
686340156298. 2
686340156299. 3
686340156300. 4



Question Number : 75 Question Id : 68634039573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiiaTu[dia afs oo o fHafdfad sawurs o1 sfed ershH ¥ oqaffyd Sifom:
A. STRIE TROT ()

B. Tfde 901 (LI B
C. QT =Ry
D. T @RI

=i fau 7Y fawedt & 9 el W &1 794 B

1.A,B.C.D

[ )

.B,A.C.D
3.C,A.B,D
4.A.C.B.D

Options :

686340156297. 1
686340156298. 2
686340156299. 3
686340156300. 4

Question Number : 76 Question Id : 68634039574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps in processing and presenting of an endogenous antigen by an infected body cell as they
oceur :

A. Binding of peptide fragments to MHC-I molecule

B. Digestion of antigen into peptide fragments

C. Synthesis of MHC-I molecules

D. Packaging of antigen—MHC-I molecule

E. Insertion of antigen-MHC-I complex mto plasma membrane

Choose the correct answer from the options given below.

1.AB.C.D.E

b2

.C.D.A.B.E
3.B.C.A.D.E
4. B.C.D.A.E

Options :
686340156301. 1



686340156302. 2
686340156303. 3
686340156304. 4

Question Number : 76 Question Id : 68634039574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Heh(Hd YRIRS BIDI gRI TP Siauid U o & YHH0 SR UEgd®0l & =9l &, ol d §id
©. 31 3T H 1 oga&yd B

A. UPTES WS & MHC-I 30§ &Y

B. T<IoH & UPSS Tl H g+

C. MHC-I 3{U] T I=ReIy0]

D. UCIS-MHC-I SI0] & Geploi

E. UeIoH-MHC-I 9y &1 wrodT f2iee] J 7oy

A= fau TTe fawent & 9 el 3| &1 =794 B

1.AB.CD.E

| )

G ABE
3B AR E
4. B.C.D.AE

Options :

686340156301. 1
686340156302. 2
686340156303. 3
686340156304. 4

Question Number : 77 Question Id : 68634039575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gene expression is controlled at various stages written below. Arrange these stages in chronological order :

A. Transcription

B. Translation

C. Post-transeription

D. Epigenectic regulation
E. Post-translation

Choose the correct answer from the options given below:

1.A.B.C.D.E

| §5)

A CBE,D
3B, CADE
4.D.A C.B.E

Options :

686340156305. 1
686340156306. 2
686340156307 3
686340156308. 4

Question Number : 77 Question Id : 68634039575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wit fftreafd fafirer =Ru g1 FafEa gidt 81 e g =Rull &1 SHes &9 H ouafyd Sife:
A, 3T

o :

C. JY-3geig
D. TUsHics

E. UY EUiae0
i< f4u U f[d@edl 5 O 9l 3R &1 90 Bl

1.AB.C.DE

2.A.C.B.E.D
3.B.C.A.D.E
4.D.A.C.B.E

Options :

686340156305. 1
686340156306. 2
686340156307. 3
686340156308. 4



Question Number : 78 Question Id : 68634039576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Proteins involved in DNA replication are written below. Arrange them chronologically in terms of function :

A. DNA polymerase I
B. DNA polymerase III
C. Helicase

D. Ligase

E. Primase

Choose the correct answer from the options given below.

1.C,E,B.D,A

[ ]

CE BAD
3AB.C.D.E
4. B.A.C.E.D

Options :

686340156309. 1
686340156310. 2
686340156311. 3
686340156312. 4

Question Number : 78 Question Id : 68634039576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Siuu Hidplan ¥ Siifea Uid A (U U § | g4 $l & YR W g% Jiad 3oy 3 oaaieyd
BT

A. SITAU UleiiEee 1

B. SIU-U Ul HES I

C. gelidal

D. A
E. UISHS

A= fau TTe fawedt & 9 el S| &1 =794 B

1.C.E.B.D.A

| )

.C,E, B, A,D
A B DLE
4 B.A.C.E.D

Options :
686340156309. 1



686340156310. 2
686340156311. 3
686340156312. 4

Question Number : 79 Question Id : 68634039577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arsrange the following steps of cell signalling in chronologieal order :

A. Reception

B. Generation of signal
C. Response

D. Transduction

Choose the correct answer from the options given below.

1.BLA.D.C

[ )

.A.B.C.D

D, C.B.A

Lad

4.B.D.A.C

Options :

686340156313. 1
686340156314.2
686340156315. 3
686340156316. 4

Question Number : 79 Question Id : 68634039577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PID] Gbd- & MRS =N & FHeg 9 § Fard S

A, XdITd (Reception)
B. Habdl 1 I BIFT

C. 3fhar

D. URITHA (Transduction)
- fau U fdsedl & 9§ el 3Tk &1 994 SIfT;
1.B.A.D.C
2.A,B.C.D
3.D.C.B.A
4.B.D.A.C

Options :



686340156313. 1
686340156314. 2
686340156315. 3
686340156316. 4

Question Number : 80 Question Id : 68634039578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I : Histone acetylation is generally associated with decrease in gene transcription.
Statement—II : Acetylation occurs on lysine residues in the N-terminal tails of histones.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct
2. Both Statement—I and Statement-II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—T 1s incorrect but Statement—II is correct

Options :

686340156317. 1
686340156318. 2
686340156319. 3
686340156320. 4

Question Number : 80 Question Id : 68634039578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUA 1 : [FEH TRIeEaRH SHRIE: S S0ES & Sl § 9SG gl gl
HYFIL : UHEIgaeH. [BH & N &l Yo d agdH siggui d g
SWRIGd BYF & 3fallsd H, i 4T 7T fdhedi § ¥ 9el Sl 997 ST

1. PYA1 3R I SHI I &
2. BYT 1R 11 SHI 3T ©
3EYTIgO e, AfeT ey EE T

4 FYTI MO e AT FuT N I 8

Options :

686340156317. 1
686340156318. 2
686340156319. 3
686340156320. 4



Question Number : 81 Question Id : 68634039579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—I : Mutation in the middle of a gene that creates stop codon is called frameshift mutation.
Statement—II : Frameshift mutation can be a point mutation.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are true
2. Both Statement—I and Statement—1T are false
3. Statement—I is true but Statement—1I1 is false

4. Statement—I is false but Statement—I7I is true

Options :

686340156321. 1
686340156322. 2
686340156323. 3
686340156324. 4

Question Number : 81 Question Id : 68634039579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE EEW%E{TFEI%‘:

HUF 1 T & 7T H Sl IR SHH $e 39 T4l 6, 349 6 fide Saikadd ogd 8
HYA 11 : AR IaRad, fagsdiady o gl goar gl

QWRIFT BYF o 3dlD H, id (G0 T [dpedl § O el IR 999 BIeU:

L. BYIRNSHI 9§
2. FYTI AR 1S ST 8

3. FYTI IS, AfpT ey I 3T e

4. FYT I3 B, AT PUT I I ©

Options :

686340156321. 1
686340156322. 2
686340156323. 3
686340156324. 4

Question Number : 82 Question Id : 68634039580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Weak interactions like hydrogen bonds and salt bridges stabilize protein folding.
Statement—II : Protein folding is assisted by chaperones.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—1I are correct

| )

. Both Statemnent—I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—T 1s incorrect but Statement—II is correct

Options :

686340156325. 1
686340156326. 2
686340156327. 3
686340156328. 4

Question Number : 82 Question Id : 68634039580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUA 1 : BISSIo 5 R U e ST &0 RER fbat didi o8 1 AR &l 81
YU 11 : WIS (TR UidH T8l 5 Jeraar sdl ¢
QIRIHT Y & 3fald o, Fid fGU 778 fadhedl § O el I 999 Sieie:

1L PRI 9d &
2. YT SIR I SH A T
3. PYT I g 8. AfeT FU I T ©
I I e e A TR IR B e i
Options :
686340156325. 1
686340156326. 2

686340156327. 3
686340156328. 4

Question Number : 83 Question Id : 68634039581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Enzymes lower the activation energy of reactions.

Statement—II : The presence of an enzyme has no effect on Keq.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—11 are true

| )

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—I1 1s false

4. Statement—I 15 false but Statement—IT is true

Options :

686340156329. 1
686340156330. 2
686340156331. 3
686340156332. 4

Question Number : 83 Question Id : 68634039581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT TR . IhgT Sl 8 sHl ad g |

HUA 11 : UlsH &1 I9RYUTT BT Keq TR P15 UHIG T2l gl

SR FYF & Hald |, 3rd U e f[dsedi § O el ol 994 Hivig:
1. PYUA1 3R I SH T &
2. FYT IR 1 SH 3T ©

3 PUT I A 8. e U I T &

4. PUT HOT S AP P I AT ©

Options :

686340156329. 1
686340156330. 2
686340156331. 3
686340156332. 4

Question Number : 84 Question Id : 68634039582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : 146 base pairs of DNA are wrapped around the histone octamer to form a nucleosome.
Statement—II : Nucleosomes play important role in gene expression.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are correct

| S

. Both Statement—I and Statement—II are incorrect
3. Statement—I is correct but Statement—II is incorrect

4. Statement—T 1s incorrect but Statement—II is correct

Options :

686340156333. 1
686340156334. 2
686340156335. 3
686340156336. 4

Question Number : 84 Question Id : 68634039582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUA 1 : U G[aei3NEIH &7 T, DNA & 146 &R 9. g1 25 & 9R 3R fige gid 51
DY 11 - A[Fa3EE il sifireniad I Hgayul 4H®T &1 Hals &wd & |
SRl Sy & 3l H, A= f3u 7 faw el & 9 98t SRl 994 S

1L PRI 9 &
2. YT ISR I SH A T
3. PYTI g 8. Al U I 3T ©
4 PYT MO e AT EY I g B
Options :
686340156333. 1
686340156334. 2

686340156335. 3
686340156336. 4

Question Number : 85 Question Id : 68634039583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Ammonia is produced during catabolism of amino acids in muscle cells.

Statement—II : In muscle cells. ammonia is converted to urea and then excreted through kidney.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—II are true

| S

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—IT 15 false

4. Statement—I is false but Statement—I7 is true

Options :

686340156337. 1
686340156338. 2
686340156339. 3
686340156340. 4

Question Number : 85 Question Id : 68634039583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂﬁ%?ﬂ&?ﬂ?{%{f,ﬂq% )

B 1 Ut BTl H onfirend & sruem & SRM i e B B

EEQFI%II . Ut PifRepral O sl &1 givar © uRad- gidl ¢ SR S9! 1al (Ga)) GRT Scul el
EIGIE]

SWRIG BYF & el H, i AU 7T fdhedl § ¥ Fel 3Rl 98- HIfeT:

. FY AR SHI 9a &
2. HFYT 1R 1A ST

3.1 AT T I 3T ©

o

4 FYT IO e AT sy N g &

Options :

686340156337. 1
686340156338. 2
686340156339. 3
686340156340. 4

Question Number : 86 Question Id : 68634039584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—I : Cyanide results in cellular hypoxia.

Statement—II : The tight coupling of electron transport and phosphorylation is uncoupled by cyanide.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement—I and Statement—11 are true

| )

. Both Statement—I and Statement—II are false
3. Statement—I is true but Statement—I1 1s false

4. Statement—I 15 false but Statement—IT is true

Options :

686340156341. 1
686340156342. 2
686340156343. 3
686340156344. 4

Question Number : 86 Question Id : 68634039584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUT 1 : TUAES & HRU SIS gRuieqdl ear gl

BYF I : TAFCH URAE SR BIEPRIGUNE & Ge6 S/ ol -1gs gRI SRR {da1 @il &
SIRIad BYUF P el H, =11 23U L famed § ¥ Fel Sove! 997 it

1. P SR 9T §

2. PYF1 IR GHI ST 7

3. FUTI A g, AP PUT I ST &

4. FUT IO . AP HUT I I &

Options :

686340156341. 1
686340156342. 2
686340156343. 3
686340156344. 4

Question Number : 87 Question Id : 68634039585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about steroid hormones?

A. Steroid hormones bind to specific receptors.
B. Steroid hormones bind to DNA to control gene expression.
C. Steroid hormones travel to distant tissues through blood.

Choose the correct answer from the options given below.

1. A and B only

| S

. B and C only
3. Aonly
4. A and C only

Options :

686340156345. 1
686340156346. 2
686340156347. 3
686340156348. 4

Question Number : 87 Question Id : 68634039585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS ETH P IR H T Id 87

A Wzs e faltw mfedl @ sre 9 d &
B. W58 g, §iiF sifiyenfaa =1 Hdfad o33 & it pNA T smexig9d &
C. TTS BTHH a6 §RT 3% S| a% Uaed #3d o

i< faU 70 fddedl & 9 Jel IR &I 99 BIfIU:
1. ¥ae A R B
2. $auB AR C
3. had A
4. FaAASMRC

Options :

686340156345. 1
686340156346. 2
686340156347. 3
686340156348. 4

Question Number : 88 Question Id : 68634039586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true about histones?

A. Histones are rich in acidic amino acids.

B. Histones are rich in basic amino acids.

C. Histones are important for stabilizing single-stranded DNA.
D. Histones bind to DNA to form chromatin.

Choose the correct answer from the options given below.
1. B and D only
2. Aand C only
3.B. C and D only

4. A and D only

Options :

686340156349. 1
686340156350. 2
686340156351. 3
686340156352. 4

Question Number : 88 Question Id : 68634039586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e IR d Fufa syt I sRaH 9al &2
A e sty o ol § 9SG gld o |
B. feeH et safi=t ol § W< Bld B
c. fEeH o I St & e & foe meag 81 €
D. feeH Suau F ey oe afeT 991 &
< f4u U [d@edl § O 9l 3R &1 99 Bl
1.H3dB AR D
2. FHaA A AR C
3. %A@ B, C AR D

4.%ad A JARD

Options :

686340156349. 1
686340156350. 2
686340156351. 3
686340156352. 4

Question Number : 89 Question Id : 68634039587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Resting membrane potential is conducted by
A. active transport
B. selective permeability of phospholipid bilayer
C. passive diffusion across lipid bilayer
D. differential distribution of 10ns across membrane

Choose the correct answer from the options given below.

1. A. B and D only

| )

.B. C and D only

L¥¥]

A, Band C only
4. A. Cand D only

Options :

686340156353. 1

686340156354. 2

686340156355. 3
686340156356. 4

Question Number : 89 Question Id : 68634039587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foRmEar fays 1 IR il 8-
A. Ifchg gfigeq
B. BIEpIcits &1 fg Tde &1 9ai-d IR

c. fofus &1 fggde 9 Fiseg R
D. [21eel & R SIHl &7 3HE [adul

-2 feu 7 fawedl & 9 el SR @1 994 ST
1. $ad A. B 3R D
2.%adB.C ARD
3.PIAAB AN C
4. Bad A, C R D

Options :

686340156353. 1
686340156354. 2
686340156355. 3
686340156356. 4



Question Number : 90 Question Id : 68634039588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following proteins do not belong to the group of chromoproteins?

A. Fibroin
B. Haemoglobin
C. Keratmn
D. Cytochromes
E. Flavoproteins

Choose the correct answer from the options given below.
1.B and D only
2. Aand C only
3. AB and E only

4. B. C and D only

Options :

686340156357 1
686340156358. 2
686340156359. 3
686340156360. 4

Question Number : 90 Question Id : 68634039588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

e 8 9 &F 91 WidH S & 993 5 1T 91d 6

A, fdrEa
B. feqnraifed

C. Bl
D. Tlecimig
E. GAawic =
i< faU U [dedl © 9§ Tel 3R &1 99 DIfuIL;
1.9ad B AR D
2. FaA A AR C
3. BFATA BN E

4. HAAB. C 3R D

Options :
686340156357. 1
686340156358. 2



686340156359. 3
686340156360. 4

Question Number : 91 Question Id : 68634039589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What information about protein can be derived most accurately from gene sequence?

A. Primary structure of protein

B. Function of protein

C. Secondary structure of protein

D. Three-dimensional structure of protein

Choose the correct answer from the options given below.
1. B only
2. Aonly
3. Aand C only

4. B and D only

Options :

686340156361. 1
686340156362. 2
686340156363. 3
686340156364. 4

Question Number : 91 Question Id : 68634039589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ST O UICH & a1 B (1) It o1 () Halide quridr 4 Hepitd o1 o 9adl g2

A UIEH & yrufirear S==A1
B. UleH & &1
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D. UZH &I [Fegr] Oe= T

- feu U fawedl & 9 981 3R &1 994 St
1. $dd B
2. Pad A
3.PaAAARC
4. BB IR D

Options :
686340156361. 1



686340156362. 2
686340156363. 3
686340156364. 4

Question Number : 92 Question Id : 68634039590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Two proteins X (Mol wt. 20 kD. pI 6.3) and Y (Mol. wt. 90 kD, pl 6.4) can be separated by which of the
following techniques?

A. Gel filtration
B. Ion-exchange chromatography

C. Isoelectric focussing
D. SDS-PAGE

Choose the correct answer from the options given below.
1. A and B only
2. Aand D only
3.B and C only
4. B and D only

Options :

686340156365. 1
686340156366. 2
686340156367. 3
686340156368. 4

Question Number : 92 Question Id : 68634039590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁm‘cﬁﬁf%(ﬂwzom. pl 6.3) 3R Y (3UIUR 90 kD, pl 6.4), FEfIREd o 659 da-iid gRI e &1
ol 9l 82

A ofd e
B. 3104 [alHH9g S iHeums]

C. THASYH (ASHI-SAEeP) BB

D. SDS-PAGE

-2 feu T fasedl # 9§ Fel IR &1 94 DIfT:
1. dad A SR B

.®ad A dRD

3. %adB AR C

4. Pdd B AR D

Options :

686340156365. 1
686340156366. 2
686340156367. 3
686340156368. 4

| B

Question Number : 93 Question Id : 68634039591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following techniques can be used for analysis of gene expression?

A. Northern blotting
B. Southern blotting
C. Western blotting
D. gRTPCR

E. ENA sequence

Choose the correct answer from the options given below.
1. A.B and D only
2.A.C.Dand E only
3.B.C.D and E only

4. A.B.D and E only

Options :

686340156369. 1
686340156370. 2
686340156371. 3
686340156372. 4



Question Number : 93 Question Id : 68634039591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oIt sifiyaafda & fawewor & forn Rafafaa go-ie! § O g T o1 SudnT fear o1 9&di 22
AT s@ten
B. Ta &leT
C. % saleT

D. qRTPCR
E. RNA 351

i fU U [dedi © O T 3T &1 T4 SIIU:
1. %ad A. B IR D

.$dd A. C,DPAUE

3. %dd B, C,D AW E

4.9dd A.B.DHAU E

[ B

Options :

686340156369. 1
686340156370. 2
686340156371. 3
686340156372. 4

Question Number : 94 Question Id : 68634039592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Vitamin A I [Rickets
B. [Vitamin K II. [Excessive bleeding]
C. [Vitamin C II1. [Night blindness
D. Vitamin D V. |Scurvy

Choose the correct answer from the options given below:

L (AHD): (B)~(IV): (C)~(II): (D)D)

| B

. (A)(IID); (B}ID): (C)—(IV): (D)~(I)
(AHIV): (B)}AIID): (C)D): (D)~II)
4. (A)~(ID): (B)~(IID); (C)~IV): (D)~I)

Lad

Options :
686340156373. 1
686340156374. 2



686340156375. 3
686340156376. 4

Question Number : 94 Question Id : 68634039592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T 11
A [[qerfEq A 1. [N&hcg
B. [[qerfEa k 1L |3t Iaaard
c. e = c 1L Rl
D. [[de®A D V. [ehdt

[Frafeied faeedl o 1 981 9Tk &1 90 By -
L. (A)D): (B}AIV): (C)~(ID); (D)~(III)

 (A)(IID): (B)ID): (C)-IV): (D))

(AHIV): (B)HII): (C)HI): (D)D)

4. (A)HID): (BIIID): (CHIVY: (D))

|

L#%]

Options :

686340156373. 1
686340156374. 2
686340156375. 3
686340156376. 4

Question Number : 95 Question Id : 68634039593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Tist IT

LISTI LISTII
A |Leucine 1. |Phosphoryvlated by kinase
B |Serine II. [Negatively charged R group
C. |Glutamate II1. [Neon-polar, Aliphatic R group
D |Tryptophan IV |Aromatic R group

Choose the correct answer from the options given below:
L. (A)(IT): (BIHD): (C)HIV): (D)-(ID)
2. (A)-(D: (B)}-(ID): (C)-ID): (D)~IV)
3. (A)(ID): (B)H(ID): (CH-(IV): (D)D)
4. (A)HID: (BIHD): (C)—(I1): (D)-IV)

Options :



686340156377. 1
686340156378. 2
686340156379. 3
686340156380. 4

Question Number : 95 Question Id : 68634039593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 1 g 11 F e Sifse

T 1 T 1
A [ggH 1 [BIEds gR BIRPRIEHICS
B. [€H II. [RUTHS 342 gad R 956
C. feeHe I1L |37ydTg. TiTbich R 998
D. [fepith IV. [RHTEH R 9HE
frafeiad famedl & 4 Uet SR &1 99 S -

1. (A(IID); (B)~D): (C)~IV): (DI(ID)
(A)I): (B)~(ID): (C)IIT): (DI~(IV)
3. (A)(IID): (B)—(ID): (C)~IV): (D)D)

| B

4. (A)~{IID): (B)~(1): (C)~(II); (D}IV)

Options :

686340156377. 1
686340156378. 2
686340156379. 3
686340156380. 4

Question Number : 96 Question Id : 68634039594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List [T

LIST I LISTII
A [VLDL 1. |Transport cholesterol from peripheral tissues to liver
B. |[Chvlomicrons | II. |Transport cholesterol from liver to other tissues
C. [HDL [I1. PMovement of dietarv triacylglycerol to various tissues
D. LDL IV |Transport of endogenously synthesized tmacyvlglveerols

Choose the correct answer from the options given below:

1. (A)IID); (B)~IV): (C)1D): (D)D)

| B

(A)HIV): (B)IID): (C)(T): (D)~ID)
3. (AHD): (B)ID): (CHIIL): (DIHIV)
4. (A)~(ID): (B)~(IID); (C)~IV): (D)~I)

Options :

686340156381. 1
686340156382. 2
686340156383. 3
686340156384. 4

Question Number : 96 Question Id : 68634039594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ fHaE S
T 1 T I
A VLDL 1 [aReY @del) Sad! 4 Gdd ol dieRelc & URded
B. [prEdiaEs-g| I [Biiceeid B 3dhd 4 GO SHad| ad Uiide
C [EDL 111 |HTERIG 215 ReeRid @1 [GIYE Sadl 5 T894
D. [LDL 1V, [3iqeiia Gl ZIgiicrRicd &1 Uikded
frafefad fasedl o 9 6l SR &1 954 S :

1. (A(IID): (B)~IV): (C)~(I): (D)}~(IT)

|

(AHIV): (BYHIID): (C)(D): (DYAID)

L#%]

(AHD): (BIID): (CHHIID): (DIHIV)
4. (A)HID): (BIIID): (CH—IV): (D))

Options :

686340156381. 1
686340156382. 2
686340156383. 3
686340156384. 4



Question Number : 97 Question Id : 68634039595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LIST1 LISTII
A IDNA methvlation I. |Increase accessibility of DINA sequence
B. |Histone acetylation Il |Gene silencing
C. |ATP-dependent chromartin remodelling] II1. [Occurs on lysine residues of histones
D. [Nucleosome IV, [Barrier for transcription

Choose the correct answer from the options given below:

1. (A(I): (B}(I): (C)~IV): (D)~(IID)

| )

(A (B)~(II): (C)(III): (D}~IV)
3. (A)~(IIT): (B~ID): (C)I): (DIHIV)
4. (A)~(I1): (B)~(IID): (C)~(D): (DI~IV)

Options :

686340156385. 1
686340156386. 2
686340156387. 3
686340156388. 4

Question Number : 97 Question Id : 68634039595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

=il 1 %1 g 11 ¥ e Sifg
T 1 T I
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B. B Ufgegaw- 1I. e
. ATP 54T hiHIe @1 e 4 i REI- H aIgdi Sfaziyl
* [eare (fmrsfem, ‘Helde
D. [Rfiae ey IV, [3eE H au®
Hafeiad [awedl O U 9gl ST &1 994 B ;
L. (A)D): (B)-I): (C)~IV): (D))

[ )

(AHD): (BHID: (CHIIT): (D)HIV)

Lad

 (AHII); (B)ID): (C)~(I): (D)~IV)
4. (A1) (B)HIID): (C)D): (DHIV)

Options :



686340156385. 1
686340156386. 2
686340156387. 3
686340156388. 4

Question Number : 98 Question Id : 68634039596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
DA polymerase | [ |Primase
DNA polymerase & | IT. [DNA repair
DNA polymerase o | II1. Mitochondrial DNA replication
DNA polymerase v | IV, [Leading and lagging strands of DNA]

R

Choose the correct answer from the options given below:DNA polymerase T
L. (A)HD): (B)~(ID): (C)~(IID): (D}IV)
2. (AHID: (BIIV): (C)-(1): (D))
3. (A)(II): (B)-IV): (C)~(D): (D)(II)
4. (A)-IV); (BIHII): (C)~(1): (D)III)

Options :

686340156389. 1
686340156390. 2
686340156391. 3
686340156392. 4

Question Number : 98 Question Id : 68634039596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=it 1 1 = 11 ¥ fHaE S

T 1 T 11
DNA TG B | 1 [HEET
DNA TIAES 5 | 1L [S1090 738
DNA UIdITR o | 111 [Higeieiigdd 1T &l Hideida-
DNA TSy | IV [B1T U & Ul 3R UyddRelh
freferad famedl o ° 98l SR &1 994 BT :

1. (AID); (B)~(II): (C~III): (D)}~IV)

(AHID): (B)HIV): (C)(1): (D)~(III)

ofo]w[s

|

L#%]

 (A)IID): (B)HIV): (C)1): (DIHID)
(AHIV): (B)HII): (C)HI): (D)IIT)

e

Options :

686340156389. 1
686340156390. 2
686340156391. 3
686340156392. 4

Question Number : 99 Question Id : 68634039597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
Cvclin D/CDEY 1 |Triggers cell death
Cyveclin EXCDE 2| 1T |Transition from G2 to M
Cvclin B/CDEI1] IIL. [Initiation of DNA synthesis
P33 IV |G1 checkpoint

ofofw[

Choose the correct answer from the options given below:

L. (A)-(IV): (B)~(I): (C)(II): (D))

| )

(AT (B)HID): (C)—IV): (D)D)
3. (A)D): (BIID): (C)~{II): (D}HIV)
4. (A)IV): (B)~(IID): (C)~(II): (D))

Options :

686340156393. 1
686340156394. 2
686340156395. 3
686340156396. 4



Question Number : 99 Question Id : 68634039597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 ga 11 ¥ e sifg

T 1 A1
[T5ida D/CDKY| 1 [PIIR@ 5 &1 I (]TTR)
arsfde E'cDr2| 1 |62 @1 v | g Hu @lforEm)
greide B/CDK 1| 111 [S1T4T T=a90 &1 URY
b3 V. |G1 9@ @Ee

fafaiad fowedi & 9 Ogl 3R &1 994 Sifo -

L (AIV): (B)AI): (CHII): (D))

ofo]w[x

Ld

2. (A(IID): (B)(II): (C)~IV): (D)~I)

Lid

(AHD): (BYHID): (C)II): (D)HIV)
(AHIV): (B)~(II): (C)ID): (D))

=y

Options :

686340156393. 1
686340156394. 2
686340156395. 3
686340156396. 4

Question Number : 100 Question Id : 68634039598 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Glycogen I |Cell wall of plants
B. [Starch II. |Carbohvdrate storage in animals
C. |[Cellulose [T |Carbohvdrate storage in plants
D. |Chitin IV |Cell wall of fungi

Choose the correct answer from the options given below:
1. (AHII): (BYAHIID): (C)(I): (DIAIV)
(AD); (BI(ID): (C)—(IID): (DIHIV)

3. (A (BIAID): (CHI): (DIHIV)

| B

4. (A)~(IV): (B)~(L): (C)(II): (D)~(IIL)

Options :

686340156397. 1
686340156398. 2
686340156399. 3



686340156400. 4

Question Number : 100 Question Id : 68634039598 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 o1 g 11 fHaH Sifee

T 1 g1 11
A [arssieE 1 [oel &1 &Il 1t
B. ™ IL [BlERRSe HSRY (Sigai H)
C [oees 1L [Uedl § #Eieigae HSR
D. [@rEicd 1V [@a® & @I (5

Fafafad fowedl & 3 U ST &1 999 DI -
1. (A)(ID): (B)-(IID): (C)HD): (D}HIV)

. (AHD): (B)YHID: (CHIID): (D)IV)

 (A)(II): (B)HID): (C)D): (DIHIV)

(AHIV): (B)D: (C)~(I1): (D))

| B

(%]

e

Options :

686340156397. 1
686340156398. 2
686340156399. 3
686340156400. 4



